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1. Lucy did a survey about the amounts of money spent by 120 men during their summer o
holidays.
The cumulative frequency table gives some information about the amounts of money
spent by the 120 men. >, (__ U} '
Amount (£4) spent Cumulative frequency

0<A4A<100 13

0 A4A<150 25

0<4<200 42

0 < 4 <250 | 64

0<4<300 93

0 < A<350 110

0 < 4<400 120

{a) On the grid, draw a cumulative frequency diagram.

2)

(b) Use your cumulative frequency diagram to estimate the median.

A Survey of the amounts of money spent by 200 women during their summer holidays
gave a median of £205

(c) Compare the amounts of money spent by the women with the amounts of money
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(Total 5 marks)
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2. The table shows information about the amount spent by 100 customers in a supermarket.

Amount spent (£n) Frequency
0 <‘n < 20 18
20<n < 40 ' 22
40<n < 60 35
60 <n<80 15
80 <n <100 8
100<n<g120 ... 2,

(a) Complete the cumulative frequency table for this information.

Amount spent (£n} ?:zﬁiiti;e
0<n<20 18
0<n<40 4’_ O
0<n<60 :'1_ =

0<n<80 40
0<n<100 ﬁg?
0<n< 120 100

4y

{b) On the grid, draw a cumulative frequency graph for your table.
@
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{c} Use your graph to find an estimate for the median amount spent.

£ .......
R ¢ )

{Total 4 marks)

i
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The table shows information about the number of hours that the batteries lasted.

3. A company tested 100 batteries.

Time (¢ hours) Frequency
50<1<55 2
55<t<60 21
60 <t <65 36
65<t<70 23
70<t<75 8

(a) Complete the cumulative frequency table for this information.

Time (¢ hours) Cflrl:; iia:i\;e
50<t<55 12

50 <1< 60 {;%
50<1<65 6(/%
50<£<70 C‘)Xz
50<1<75 (OO

(b) On the grid, draw a cumulative frequency graph for your completed table.

() Use your completed graph to find an estimate for the median time,
You must state the units of your answer.
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(Total 5 marks) F—}
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4. The table gives some information about the delays, in minutes, of 80 flights,

Dfalay Frequency
{n minutes}
0<n<20 16
Tj0<n<30 | 26
30<n<40 23
40<n<50 10
50 <n <60 5

(a) Write down the modal class interval.

()
(b) Complete the cumulative frequency table,
Delay Cuamulative
(7 minutes) Frequency
0<n<20 LG
T 0<n<30 4‘1»2_\
0<n<40 éﬁ
0<n<50 35
0<n<60 O
y
(¢} On the grid opposite, draw a cumulative frequency graph for your table.
@

(d}) Use your graph to find an estimate for

(1) the median delay, /
O

20
....... , vl IINUEES
(ii) the interquartile range of the delays.

! .. minutes

Lg = 20t = 22 G

Vg = A = 3¢

i}
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(Total 7 marks) j

v

TQr = 2g— 27 :ﬂé
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5. Here are four cumulative frequency diagrams.
~ Here are four box plots.
P
o]
R m
S
For each box plot, write down the letter of the appropriate cumulative frequency
diagram.
Q5
(Total 2 marks) N‘{
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6 . The table shows information about the time, m minutes, it takes to show each of 120 films.

Time (# minutes) Frequency
70 <m < 80 4
80 < m < 90 12
90 <m< IﬁO . 3.4
100<m < 110 32
110<m < 120 26
120<m < 130 12

(a) Write down the modal class interval.

Gig pev €100 /

| @
(b) Complete the cumulative frequency .table.
Time (s minutes) Cumulative frequency
T0<m< %% . 4
70 < m < 90 . | &
70 < m < 100 SO
70 <m < 110 £
70<m < 120 PR
70 <m < 130 VDO
1)
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(¢) On the grid, draw a cumulative frequency graph for your cumulative frequency table.
A
120
100
80 =
Cumulative
frequency
60
40
20
0 >
70 80 90 100 110 120 130
Time (m minutes)
@)
(d) Use your graph to find an estimate for the median. o % @ 3
..... TE . minutes
1y Q6
(Total 5 marks) ’.]
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